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Assign Epsilon range
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Assign Sigma range
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Assign Radius and density range
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Assign frequency and Re{f(w)] and maximum error

save result to
result.txt file
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d,. =lowerd_ add dim with d._ range




add d , with d  range
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O, = lower g,
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add o, with o__range
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o, = lower o,

0'ic <= upper Oic

add o, with o range

add o, with o, range




add O;. with O, range
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add g, with €, range
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Compute average error
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Compute Re[f{w)]
with frequency[ i ] and
error{i]

add solution in the result.txt file

number of result < 10
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‘| Solution No. : 1

Eic = 6.00000000000001E+1 Eim= 8.00000000000002E+0
Eoc = 6.00000000000001E+1 Eom = 8.00000000000002E+0
Es = 8.00000000000002E+1
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Alimansaifunguaans uazdaaonlddilusunsudng Idaudasns weneni
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result - Notepad

Bolution No. : 1

Eic = 6.00000000000001E+1 Eim = 8.00000000000002E+0
Eoc= 6.00000000000001E+1 Eom = 8.00000000000002E+0
Es = 8.00000000000002E+1

Sic = 1.000000000000E-1  Sim = 1.000000000000E-7

A

1.000000000000E-1  Som = 1.000000000000E-7
5.000000000000E-2

R = 2.000000000000E-5 Ric= 1.996500000000E-5

Ri = 1.997500000000E-5

Doc= 1.500000000000E-8 Dom = 1.000000000000E-8

Dim = 1.000000000000E-8

Error [%6) = 1.21000000

Solution No. : 2

Eic = 6.10000000000001E+1 Eim = 8.00000000000002E+0
Eoc= 6.00000000000001E+1 Eom = 8.00000000000002E+0
Es = 8.00000000000002E+1

Sic = 1.000000000000E-1 Sim = 1.000000000000E-7
Soc = 1.000000000000E-1 Som = 1.000000000000E-7

Ss = 5.00000DODDOODE-2

R = 2.000000000000E-5 Ric= 1.996500000000E-5

Ri = 1.997500000000E-5

Doc= 1.500000000000E-8 Dom = 1.000000000000E-8

Dim = 1.000000000000E-8

Error25) =  3.02000000

Solution No. : 3

Eic = 6.20000000000001E+1 Eim = 8.00000000000002E+0D
Eoc= 6.00000000000001E+1 Eom = 8.00000000000002E+0
Es = 8.00000000000002E+1

Sic = 1.000000000000E-1  Sim = 1.000000000000E-7
Soc= 1.000000000000E-1 Som = 1.000000000000E-7

Ss = 5,000000000000E-2
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